EE 5306 Homework #4 
1- Assume that the two amplifiers shown in Figure 1a and Figure 1b are identical and each one is characterized by Figure 10.1 from Pozar.  Assuming that Pin is -40 dBm for each case, determine Pout  for each of the two configurations.  Show your calculations.  Compare both cases in term of gain, output power and dynamic range.  What advantages and/or disadvantages has one over the other one?  For both cases, make a plot of Pout Vs Pin and compare to the plot of that of a single amplifier (Figure 10.1).  Determine the gain and the dynamic range for both cases.  


a)  Cascaded Configuration


b)  Parallel Configuration

Figure 1 - a) Cascaded amplifier, b) Parallel amplifier configuration

2 - Solve problems 10.5, 10.6,10.7 from Pozar
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